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®* Raju go north, then turn right and then go to the left. In which direction is
Raju now ?

* TS 3T <t TR AT &, Tt I1d g 7 o fore o e &1 g ot fomr foom
g2

A.East
B. West
C.North
D.South




®* Sandeep travels 7 km. towards North, then he turns to his right and walks
3 km. He again turns to his right and moves 7 km forward. Now in which

direction is he from his starting point

* Tty 7 feRwT ST ATAT SHIAT §1 I ShT TR ATAT 7, T I U I HEaT § 3R
3 ToreY TreraT 31 9% TURt & STUHT STt 3T HedT § 3T 7 TRt 3T arga 2 o1
o€ U JEATAT foig W fere faomu @

A.East

R A | B. West
H C.North
D.South




* If North-East is called South, South-West is called North, then which
direction is denoted by West ?

* IfS ITR-US T FFLTUT HET AT, STRIVT-UTHH T I el AT, A1 TS forer
feoTT <At EoTiaT 82

A. South-East
B. North-East
C. South-West
D. North-West




®* One day Ravi left home and cycled 10 km southwards, turned right and
cycled S km and turned right and cycled 10 km and turned left and cycled
10 km. how many kilometers will he have to cycle to reach his home
straight ?

o Teh fo T =r & e 31X 10 foReivter 2feror it o1k arsferet wrem=, ar&
HST AR 5 TeReTHIS g iehet STt 3R IR HST AR 10 fReTHIet Argiehet

SATHT R AT AT 10 TeheTiHtey ATgiehet SIeTreill Hier 1 o3 uge &
foTu 3T TR ToheTTHTeX ATSTohet T USTT? A.10
= \\ B.15

C.20
D.25

L




* Kunal walks 10 km towards North. From there he walks 6 km towards

South. Then, he walks 3 km towards East. How far and in which direction
is he with reference to his starting point?

* SHUTTST 3T hT 3 10 TehHT <TCTAT ) &t H T8 SFRA0T <hT 2T 6 Terwt wretar 2|
TOR, o 3 TeRtlT Il hT 3T <IeTdT 21 ofE 37U JH3ATAT Taig o Haw | fehe T g3

A.S5 km West

B.7 km West

C.7 km East

D.S km North-east




* One day, Hemant left home and cycled 10 km southwards, turned right
and cycled S km and turned right and cycled 10 km and turned left and

cycled 10 km. He is in which direction from the starting point?

* Ueh {1 gHd o) | fAanetr 3 10 fordt gigror &Y o1 Argierer Sretremt 318 HeT
R 5 TRt Tgiehet TeTe SR 30 HS 14T R 10 fordt arginet e 3R

A.East
B. West
C.North
D.South




* Avika walks 10 km towards North. From there she walks 6 km towards
South. Then, she walks 3 km towards East. How far is she from her
starting point?

o 37foreRT 3T ht 3T 10 FeRHT Tt 1 ot ¥ a8 =ferur Y 1R 6 ferHt =rerd 2
TORL, 1 3 TeRtil Il hT 3T <reTclt 81 o 70U YHIATAT foig & Tehat gL 82

;/ \'§

4TI




* Akshat walked 30 metres towards East, took a right turn and walked 40
metres. Then he took a left turn and walked 30 metres. In which direction
is he now from the starting point?

* 37T U hT 3T 30 HieX AT, T T 3R 40 Hiet et {oRe g and 71 iR
30 Htet =retnl o1 g uies foig @ form fam a4 82

A 6\ | A. North-east

B. East
C. South-east
D. South




* Niraj goes 30 metres North, then turns right and walks 40 metres, then

again turns right and walks 20 metres, then again turns right and walks 40
metres. Now he is in which direction from the starting point?

o Tt 30 Hiex ST T MR ST B, Tk 2T gt § o 40 HWiex wrerar &, R ard
Tgar § 3R 20 HeX Terar &, T S0 72aT § 3R 40 HieX Ieral 5| 9 98
ariferens foig @ form fawm 4 22

5 A.East

| / ﬁ\ | B. West
, C. North
D. South




* A walks 10 metres towards east and then 10 metres to the right. Then
every time turning to his left, he walks 5, 15 and 15 metres respectively.

How far is he now from his starting point?

* A 10 HieX Ud T TR TeTaT & 3R fih 10 Hiet 315 TR Tetat ¢l fi | an
AT SIS ST Yok I8 SHUIM: 5, 15 3 15 He TeTar 2| 37 9 0
TEATAT foig & feherT T 22

- A. 5 metres
= \ | B. 10 metres
i JE C. 15 metres
D. 20 metres




* A man is facing north-west. He turns 90° in the clockwise direction and
then 135° in the anticlockwise direction. Which direction is he facing now?

* Ueh S <h ST H IT-UTLH <Y 3T 1 o8 90° Fferurrard faorm o o1 foRe 135°
FraTEd fI9T § geat 71 o7 36kt uw fow fam &y st 72

A.East

B. West
C. North
D. South




®* Mr Deepak Mohan walks S km towards the south and then turns to the
right. After walking 3 km he turns to the left and walks 5 km. What
direction is he facing right now?

* oft ETuek Wig 5 ToRTT FFRTUT T TR TIeTd & I U ST31 e 9T 81 3 TRt

T o TS T ATE TR TSAT § 3R 5 Forwt wreran 81 g oreft forwr faom <y o7
A.West

B. South
C.North-East
D.South-West




®* Sowmya Krishnan walked 20 m towards the north. Then she turned right
and walks 30 m. Then she turns right and walks 35 m. Then she turns left
and walks 15 m. Finally she turns left and walks 15 m. In which direction
and how many meters is she from the starting position?

* HTAT THUH IR T 3T 20 Hiet Tl fRY o T Heedt § 7R 30 Hiex werdt
21 TRt o 3T et § 3R 35 Hiet aerdt 71 fRt o = et § ofiX 15 #iew
AT g1 3T H TE TC ST § SR 15 HieX Ietdl ¢l T8 RIS Ruta & fore

faom & of fra ez A ghr w22 A.15 m West

=\ B.30 m East
C.30 m West

D.45 m East




®* Mahesh is standing facing north. He turns 180° in the clockwise direction
and then 45° in the same direction and then 270° in the anticlockwise
direction. In which direction is he facing now?

* TR I chl A T hich TS Bl T2 SLIUTTE {291 | 180° Tt 8 R R
3T foom & 450 SR for amTerd fowm # 270° Hear 21 97 o« forw fawm <t a1

A.South-West
B. South-East
C.North-East
D.North-West




* After walking S km I took another right turn and walked 3 km, then took
another left turn and walked 8 km. At last I was going towards the south.
In which direction did I start the journey?

* 5 ToRHY <reT o T | ST 3R |t 3R 3 Torw Ta, 3eh g it 3R Het
3R 8 Tertt =reT | 3= W W oot feom <ht 3T T w81 ot | #+ feher Teom O g

A.East
2 \ * B. West

.(\ /f C. North
W= /8 D. South

' '77":‘




®* An insect can move in both front and reverse directions. He walks in front
for 3 minutes and then reverse for 2 minutes. He walks at a speed of 5
meters per minute. At least for how long will he be able to cover 105

meters?

o Uek hic AT 3R e ST fEvmmsnt § et Tehd! € | 92 3 fiee aek amae oy
TE AT g 3R T 2 formre o feru e oretar 2 | 98 5 Hier ufa fame v fa

W AT & | HH O HH IE Tha" a6 a 105 e ah aF i § T80 g1 2

A.105
B. 95
C.21
D.93




